For each of the words in Capital letters, choose from among the answers, the word that is closest in meaning:

(1) PLAINTIVE

(A) mournful   (B)senseless   (C)persistent   (D)rural   (E)evasive

(2) PLATITUDE

(A) Fatness   (B) bravery   (C) dimension   (D) trite remark  (E)strong belief

(3) POLEMIC

(A) Blankness   (B) lighting   (C) magnetism (D) controversy   (E) grimace
(4) PONDEROUS

(A) Contemplative   (B)moist   (C)rambling   (D) bulky  (E)erect

(5)  PRECARIOUS

(A) priceless   (B)premature   (C) primitive  (D)hazardous   (E)unwelcome

(6)  REFRACTORY

(A) articulate   (B)sinkable   (C)vaunted   (D)useless   (E)unmanageable
(7) REGAL

(A) oppressive   (B)royal   (C) major  (D)  basic (E)entertain

(8) REITERITE

(A) gainsay   (B)revive   (C)revenge   (D)repeat   (E)return

(9) RELISH

(A) Desire   (B)nibble   (C)savour   (D)vindicate   (E)avail

(10) REMISS

(A) Lax   (B)lost   (C)foolish   (D) violating  (E)ambitious

For each of the words in Capital letters, choose from among the answers, the closest word that has the opposite meaning:

(11) LATENT

(A) prior  (B)tardy  (C)devious   (D)manifest  (E)astronomical

(12) BROACH

(A) seal off  (B)vie with  (C)unsettle   (D)stint  (E)enhance

(13) ENCOMIUM

(A) prodigality  (B)denunciation  (C) sacrifice  (D)disability  (E)abbreviation

(14) AMELIORATION

(A) cancellation (B)worsening  (C)forgetfulness   (D)bribe  (E)consideration

(15) DISARRAY

(A) neaten (B)empower  (C)combine   (D)oscillate  (E)select

(16) DISPUTATOUS

(A) repugnant (B)coy  (C)conciliatory   (D)infamous  (E)composed

(17) INUNDATE

(A) uproot  (B)channel  (C)wallow   (D)embroil  (E)drain
(18) RETICENCE

(A) irascibility  (B)loquaciousness  (C)quiescence   (D)patience  (E)surrender

(19) INCONGUOUS

(A) Geometric (B) prudent (C)legitimate   (D)harmonious  (E)efficacious

(20) APOSTATE

(A) laggard  (B)loyalist  (C)martinet   (D)predecessor  (E)skeptic

Read the following text.  The passage contains some blank spaces.  Choose the sentence from the list A – I, that best fits in each of the blank spaces.  The numbers in brackets refer to Question numbers.

At the present time, 98 percent of the world energy consumption comes from stores sources, such as fossil fuels or nuclear fuel. ___D____ Discovery of large additional fossil fuel reserves, solution of the nuclear safety and waste disposal problems, or the development of controlled thermonuclear fusion will provide only a short-term solution to the world’s energy crisis. Within about 100 years, the thermal pollution resulting from our increased energy consumption will make solar energy a necessity at any cost.

Man’s energy consumption is currently about one part in ten thousand that of the energy we receive from the sun. ___A___. If this growth continues, within 100 years our energy consumption will be about 1 percent of the absorbed solar energy of the absorbed solar energy, enough to increase the average temperature of the earth by about one degree centigrade if stored energy continues to be our predominant source. This will be the point at which there will be significant effects in our climate, including the melting of the polar ice caps. A phenomenon,  which will raise the level of the oceans and flood parts of our major cities. ___C____. As the ice caps begin to melt, the reflectivity will decrease, thus heating the earth still further.

It is often stated that the growth rate will decline or that energy conservation measures will preclude any long-range problem. Instead, this only postpones the problem by a few years. Conservation by a facto9r of two together with maintenance of the 5 percent growth rate delays the problem by only 14 years. __E___; in addition, the inequalities in standards of living throughout the world will provide pressure towards an increase in growth rate, particularly if cheap energy is available. The problem of changing climate will not be evident until perhaps ten years  before it becomes critical due to the nature of an exponential growth rate together with the normal annual weather variations. __G____. 

The only practical means of avoiding the problem of thermal pollution appears to be the use of solar energy. (Schemes to “ air-condition” the earth do not appear to be feasible before the twenty-second century). _____I_________. The cost of solar energy is extremely favorable now, particularly when compared to the cost of relocating many of our major cities.

A. However, it is growing at a 5 percent rate, of which about 2 percent represents a population growth and 3 percent a per capita energy increase.

B. The primary concern is isolating an ambiguity and clarify by definition

C.  There is positive feedbacks associated with this process, since the polar ice cap contributes to the partial reflectivity of the energy arriving form the sun:

D. Only hydroelectric and wood energy represents completely renewable sources on ordinary time scales.

E. Reduction of the growth rate to 4 percent postpones the problem by only 25 year5s;

F. The melting of polar ice caps will accelerate the transition to solar energy

G. This may be too short period to circumvent the problem by converting to other energy sources, so advance planning is a necessity.

H. It is proposed to utilize the hydroelectric and wood energy to replace non- conventional energy sources such as nuclear energy

I. Using the solar energy before it is dissipated to heat does not increase the earth’s energy balance.

Paralleling the growth of interest among professional historians during the early 1960s was a simultaneous groundswell of popular interest in the Afro-American past that was directly stimulated by the drama of the protest movement. Sensing the “Negro Mood”, the journalist Lerone Bennett wrote a series of articles on Afro-American history for Ebony and soon after brought them together in his popular volume, Before the Mayflower(1962). As the nonviolent direct action movement attained its crest in 1963-64, movement activists introduced black history units into the curricula of the “freedom schools” that accompanied the school integration boycotts. Meanwhile, boards of education began to address themselves to “ the racial imbalance and neutralism of pusillanimous textbooks designed to appeal to Southern as well as Northern school adoption committees.” In 1964 New York city’s school board published The Negro in American History; Detroit’s social studies teachers produced The struggle for Freedom and rights: Basic Facts about the Negro in American History. Franklin, surveying the activities among publishers, teachers, and school boards, called these beginnings of curriculum revision “one of the most significant by products of the current Civil Rights Revolution”.

The relationship between these developments at the grass roots level and what was occurring in the scholarly world is of course, indirect. Yet given the context of social change in the early 1960s, Negro history was now the object of unprecedented attention among wide segments of the American population, black and white. In academe, nothing demonstrated  this growing legitimacy of black history better than the way in which certain scholars of both races, who had previously been ambivalent about being identified as specialists in the field, now reversed themselves.

Thus Frenise Logan, returning to an academic career, decided to attempt to publish his doctoral dissertation on blacks in late nineteenth-century North Carolina. A 1960 award encouraged him to do further research, and his expanded The Negro in North Carolina, 1876-1894 appeared in 1964. It is true that as late as 1963 a white professor advised John W. Blassingame to avoid black history if he wanted to have “ a future in  the historical profession. “ Yet more indicative of how things were going was that 1964-65 marked a turning point for two of Kenneth Stampp’s former students- Nathan Huggins and Leon Litwack. The changing intellectual milieu seems to have permitted Huggins, whose original intention of specializing in African and Afro-Americans history had been overruled by practical concerns, to move into what become his long range commitment to the field. By 1965 when his interest in intellectual history found expression in the idea of doing a book on the Harlem Renaissance, the factors that earlier would have discouraged him from such a study had dissipated. For Litwack the return to Negro history was an especially vivid experience , and he recalls the day he spoke at the university of Rechester, lecturing on Jacksonian democracy. Some students in the audience, sensing that his heart was just not in that topic, urged him to undertake research once again in the field to which he had already contributed so significantly. He settled on the study that became Been in the storm so Long (1979). In short, both Huggins and Litwack now felt able to dismiss the professional considerations that had loomed so large in their earlier decision to work in other specialists and to identify themselves with what had hitherto been a marginal field of inquiry.

(27)
The author indicates that the growth of scholarly involvement in the study of black history was 

A. Unappreciated in academic circles.

B. Encouraged by the civil rights movement

C. Systematically organized

D. Unaffected by current events

E. Motivated by purely financial concerns

(28)
The author’s account is based on all of the following EXCEPT

A. personal anecdotes

B. magazine articles

C. curricular materials

D. public opinion polls

E. scholarly publications

(29)
The author cites Logan, Huggins, and Litwack for their

A. Work on curriculum reform in the public schools

B. Participation in the Freedom Summer in Mississippi

C. Return to the field of Afro-American history

D. Research on blacks in nineteenth century North Carolina

E. Identification with non violent direct action

(30)
The author suggests that the advice given to John W. Blassingame was

A. meant maliciously

B. inappropriate to the times

C. acted on in good faith

D. vital to his career

E. verified by research

(31)
Which of the following best describes the purposes of the passage?

A. To document the sacrifices made by black and white scholars in the f

     field



B.   To define the validity of black history as a legitimate scholarly pursuit

C.  To investigate the origins of Afro-American studies in American     

      universities 

D. To encourage the return to the study of black history at the grass roots l

     level

E.  To describe black history’s coming of age as an academically       

      respectable field

(32)
The passage suggests that Bennett’s work was similar to Logan’s work in which of the following ways?

I. Both Bennett’s and Logan’s books recorded a then relatively unfamiliar aspect of Afro-American history

II.   Both Bennett’s and Logan’s work were designed to appeal to a primarily academic audience

III. Both Bennett’s and Logan’s work were published in a variety of formats

A. I only

B. II only

C. I and II only

D. I and III only

                E.   II and III only

PART II

Q1. 
Fill in the missing number in the sequence  

7 
26   
63  
?? 
 215    
 342

(a) 123    (b) 126   (c) 124   (d) 128  (e) 125

Q2.
In the following series, how many Bs are there such that each B is followed by an G next to it if the G is not followed by a K next to it. 

B    G    B    K    Q    M    B    G    K    M    G    B    G    G    B    Q    M    B    

B    G    Q    B    G    K    G    B    A     M   G    B    G    M

(a)3
(b)2
(c)5
(d)4
(e)6

Q3.
If  EUDYH is coded as BRAVE how will SOHDVH be coded?


(a) DISPLAY
(b) PLEASE
(c) CENTRAL
(d) SURMISE
(e) DISPLAY

Q4.
Suppose the first and second letters in the word MEASUREMENTS were interchanged, also the third and fourth letters, the fifth and sixth etc.  Print the letter that would then be the tenth letter counting from the right.

(a)    E

 (b) A

   (c) S

   (d) M
   (e) N

Q5.
How would the decimal number 562 be represented in a base -7 number System?

 
(a)   1342                    (b)  1234         (c) 1432        (d)  1564              (e)1646

Q6.
What is the largest prime number that can be stored in an 8-bit word computer?

(a)    251                 (b) 217               (c)   261             (d)     243           (e)  257

Q7.
If n = 68 x 12 x 51, which of the following is NOT an integer?


(a)
n / 102

(b)
n / 72

(c)
n / 153


(d)
n / 244

(e)
n / 136  

Q8.
Which of the following is a power of 3?


a.
6561

b.
6762

c. 
6345



d.
6179

e.
6174

Pick the odd one out

Q9.
(a)
MVS


(b)
ORACLE
(c)
INGRESS


(d)
DB2


(e)        SYBASE

Q10.
(a)
SMTP


(b)
HTTP

(c)
BAAN



(d)
WAP


(e)        ARP

Q11.
The three numbers in brackets represent the length of the sides of a triangle. Which of these does not represent a proper triangle?

(a)
(2m,3m,4m)
(b)
(4m,5m,4m)
(c) 
(3m,4m,8m) 

(d) 
(3m,3m,3m)     (e) 
(2m,4m,5m) 

Q12.
The three numbers in brackets in each of the following options represents the number of vertices, the number of edges and the number of faces respectively. Find out which of these represents a solid planar cube?

(a)  (8,12,6) (b)  (8,6,12)
(c)  (8,12,4)
(d)  (6,8,6)   (e)  (4,6,8)

Q13.
Which set of data exhibits a higher Standard Deviation?


(a)
1, -1, 1, -1, 1, -1   
(b)
1, 0, -1, 1, 0, -1 (c)
1, 1, 1, 0, 1, 1

(d)
1, 1, 1, 1, 1, 1

(e)
-1, -1, -1, -1, -1, -1 


The three circles below represent the number of people proficient in C, COBOL, JAVA.  Answer the next three questions based on the diagram
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Q14.
How many more (or less) people are proficient in COBOL than people who are proficient in C?


(a)2
(b)3
(c)4
(d)5
(e) 1

Q15.
What percentage of people proficient in JAVA are also proficient in C but not in COBOL?


(a)23
(b) 17.4 (c)  15(d) 18
(e) 14

Q16.
What percentage of total people are proficient in all three languages?


(a) 6
(b)5
(c)4
(d)8
(e)7


The figure on the left represents number of dealers for a Company and the figure on the right depicts region-wise distribution for 1998
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Dealers (in "00s)
Q17.
Which year has registered the maximum percentage growth in dealers?

(a)1998
(b)1996
(c)1994
(d)1686
(e) 1888

Q18.
What is the average number of dealers for 1995-1999?

(a) 7700
(b) 6800
(c) 8800
(d) 4800
(e) 7800

Q19.
If 10% of dealers in 1998 left the Company, how many fresh dealers were made in 1999?


(a) 4500
(b) 4600
(c) 4700
(d) 4900
(e) 5400

Q20.
A hypothetical physical quantity is defined as


(Power X Time) / (Velocity X Velocity)


In what fundamental units would this quantity be expressed?


(a) Time
(b) Power
(c) Mass
(d) Distance
(e) None


Q21.
Ram can copy 50 pages in 10 hours, while Ram and Shyam together can copy 70 pages in 10 hours. In what time Shyam can copy 26 pages?


(a)12
(b)16
(c)13
(d)18
(e)39

Q22.
Which of these matrices is singular

[image: image3.bmp]


12     3

   15   25
         1     0
   
10   12


  A =

      B =

          C =

  D = 



 9      2

    3      5
         0     1

  3     4


(a)A
(b)B
(c)C
(d)D
(e) None

Q23.
Match the following relationships:


(i)
Mammal – Cow

(1)
Not a type of


(ii)
Mushroom – Vegetable
(2)
Part of


(iii)
Snake – Reptile

(3) 
A type of


(iv)
Sentence – Paragraph

(4)
Superset of


(a) i-3,ii-1,iii-4,iv-2
(b) i-4,ii-1,iii-3,iv-2
(c)i-4,ii-1,iii-2,iv-3


(d) i-3,ii-2,iii-1,iv-4
(e) i-1,ii-4,iii-3,iv-2

Q24.
If & stands for doubling and % stands for change of sign what is the value of 

& % & (7)  -  % & % (7)?

(a)44
(b)42
(c) -42
(d)45
(e)46

Q25.
A sequence is defined recursively as



f(0) = 1;
f(1) = -1



f(n) = f(n-1) - f(n-2)


What will be the value of f(5)?


(a)4
(b)5
(c)2
(d)3
(e)1

Q26.
What curve best suits the following data:

	X
	Y

	0.99
	0.00001

	10.04
	1.02

	99.98
	1.997

	1000
	3.0

	9990
	4.004



(a) y = logn x
(b) y = log10 x  (c) y = ex   (d) y = -log10 x  (e) y = - ex
Q27.
A Two-dimensional array X(7,9) is stored linearly column-wise in a computer's memory. Each element requires 8 bytes for storage of the value. If the first byte address of X(1,1) is  3000, what would be the last byte address of X(5, 8)?

(a)3231
(b)3552
(c)3431
(d)3541
(e)3251

Q28.
Of the four straight lines A, B, C, D find out which pair forms an orthogonal set

 
A: 3x+2y-7 = 0, B: y = -x ,  C: y = 7x+3, D: 2x = 3y+5


(a)AD
(b) AC
(c)BC
(d)BD
(e)CD


Q29.
Evaluate the expression 

M(843,7) + R(5.8) + T(7.7) - R(3.4) where

M stands for Modulo arithmetic, R stands for Round-off operation and T stands for Truncation Operation

(a)12
(b)11
(c) 13
(d)9
(e)10

Q30.
Three independent mechanisms A,B and C have been incorporated for fuel saving in a car producing  respectively 25%, 20% and 10% efficiency. Assuming that they operate independently, what is the net  fuel efficiency achieved?

(a)34% 
(b) 44%
(c) 48%
(d) 46%
(e) 42%

Q31.
The scores in class exams and final exam of 2 students are given as below:



Class exam

Final exam



3


1.2



3.5


1.45


Find the Class exam score of a student who has scored zero in the Final exam.


(a)0.6
 (b) 1
(c)0.1
(d)0.2
(e)0.5

Q32.
What equation best describes the curve shown below:

[image: image4.bmp]
(a) y = x + 3
(b) y + 3 = x
(c)y + x = 0
(d) y = Cos x
(e) y = tan x 

Q33.
The temperature at Chennai is given by the function: -t2/6+4t+12 where t is the elapsed time since Noon. What is the percentage rise (or fall) in temperature between 4.00 PM and 9.00 PM?


(a) 33%
(b) 34%
(c)36.2%
(d) 35%
(e) 31%

Q34.
An aircraft takes off from A (0o N Lat, 80o E Long) at 2.00 AM local time to B (32o N Lat, 40o W Long). If the flying time is 8 hours what is the local time of landing at B?

(a)5.40 AM
(b) 4.00 AM
(c) 2.00 AM
(d) 3.00AM
(e) 8.00AM

Q35.
Fill in the last row of the following Truth Table:

	A
	0
	0
	0
	0
	1
	1
	1
	1

	B
	0
	0
	1
	1
	0
	0
	1
	1

	C
	0
	1
	0
	1
	0
	1
	0
	1

	( A ( B ) ( C
	
	
	
	
	
	
	
	


Interpret the resulting bit pattern as an integer in an 8-bit computer and write the decimal value.


(a)24
(b) 21
(c)18
(d)16
(e)22

Q36.
A file is transferred from one location to another in 'buckets'. The size of the bucket is 10 kilobytes. The bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.


(a) 10.011 N
(b)10.11 N
(c) 11.01 N
(d)11.011 N
(e)10.101 N

Q37.
The productivity of a team of programmers is given by the function 

P(N) = 4000 √N, where N is the total strength. Find the percentage change in productivity if the strength of the team is increased by 1%.


(a) 0.75%  
(b) 0.25%
(c) 1%
(d) 0.5%  
(e) 2%

Q38.
A telephone cable is to be run from a junction point on the bank of a river 900 meters wide to an office that is located 3000 meters downstream on the opposite bank. If the cost of laying cable under water is Rs. 5 per meter and that of laying overhead on land is Rs. 4 per meter, find the point downstream where the cable is to cut across the river.


(a) 450 
(b) 1800
(c) 2800
(d) 2100
(e) 2700

END OF  PART II

PART III

Read the following passages and answer questions under each passage

(1) In the days of sailing ships fresh food was not available and at the end of long trips many sailors came down with scurvy. Many attempts were made to seek a cure for this condition. 

· John Hall cured several cases of scurvy by administering an acidic brew made of a certain grass and watercress.

· William Harvey suggested that the sailors take lemon juice to prevent scurvy. He thought the specific acid (citric acid) in lemon juice would prevent the disease.

· James Lind experimented with 12 sick sailors to find out whether the acid was responsible for the cure. Each was given the same diet except that four of  the men were given small amounts of diluted sulphuric acid.

· Four others were given vinegar (acetic acid) and the remaining four were given lemons. Only those given lemons recovered from the scurvy.

1. How many controls did James Lind use?

(A) One 

(B) Two

(C) Three

(D) Four

(E) None

2. A possible cause of scurvy is:

(A) lack of watercress

(B) lack of acidity

(C) lack of fresh food

(D) lengthy sea voyages

(E) lack of lemon juice

3. The hypothesis tested by Lind was that:

(A) lemons contain  some substance not present in vinegar

(B) the citric acid of lemons is effective in treating scurvy 

(C) lemons contain some unknown acid that cures scurvy

(D) the substance ton cure scurvy is found only in lemons

(E) some specific substance rather than acids in general, is needed to cure scurvy

4. Which question did Lind’s experiment NOT answer?

(A) Will lemons cure scurvy?

(B) Will either sulphuric acid or vinegar cure scurvy?

(C) Will citric acid alone cure scurvy?

(D) Are lemons more effective than either sulphuric acid or vinegar in the treatment of scurvy?

(E) Are all substances that contain acids equally effective as treatments for scurvy?

(2) O, P, Q  or W  may cause R 

P, Q, or W may cause S

W or X may cause T

R or S may cause U or V, only if R and S are caused by P or Q.

R or S may cause Z only if R and S are caused by Q.

Only S and T together may cause M or N.

T may cause H only if it is caused by W or X.

1. Which can result form the largest number of immediately preceding events?

(A) R

(B) S

(C) T

(D) M

(E) N

2. Which can result in the smallest number of subsequent events, counting both those that follow immediately and those that follow after another event?

(A) O

(B) P

(C) Q

(D) W

(E) X

3. How many different events or combinations of events may cause V?

(A) 5

(B) 6

(C) 7

(D) 8

(E) 9

4.Which may be a result of the smallest number of different combinations of events?

(A) U

(B) V

(C) Z

(D) M

(E) N

(3) Six school Board Members – Ram, Shyam, Anil, Vijay, Sanjeev and Swami – are seated at a conference table in the auditorium of Bloomingdale High School, to run a community budget meeting. They take 6 seats, numbered 1 through 6 from left to right, on the same side of the table. However, there has been some tension among the Board Members during the current Budget crisis and this affects the city.

Ram has openly clashed with Shyam over staff cuts, and cannot be seated immediately to the left or immediately to the right of Shyam.

Anil has a hearing impairment that only Vijay knows about, and so must be immediately to the left of Vijay. 

Swami knows that the angry head of a tax group will be seated on the right side of the auditorium, so he will not occupy seat 6 at the table.

1. Which of the following Board members cannot be seated in seat 1:

(A) Ram

(B) Shyam

(C) Anil

(D) Vijay 

(E) Swami

2. If Vijay is seated in seta three, Anil must be seated in seat:

(A) 1

(B) 2

(C) 4

(D) 5

(E) 6

3. If Ram is seated in seat 5, which of the remaining Board members must be seated in seat 6?

(A) Shyam

(B) Anil

(C) Vijay

(D) Sanjeev

(E) Swami

4. If Swami is seated in seat 3, immediately to the right of Vijay, which of the remaining Board members must be seated in seta 5?

(A) Ram

(B) Shyam

(C) Anil

(D) Vijay

(E) Sanjeev
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